Faculty of industrial education Bani-Sweif aniversity
First year Jualv, 20100 English Exan

L. Write on two of the following topies :

aPetroleum b. internet ¢. Technology d. Oceanic conservation
¢ . Endangered species 1. Desert

It . Read the following and answer the guestions :

Petroleuna is maturally occurring oily liquid composed of various orgunic
chemiteals . Found below the surface of the earth , it is used as a fuel and as a raw
maierial in the chemical industry . Modern industrial civilization depends on
petroleum and developing countries base their goals on petrolenm availabiliry .
Compased principslly of hydrocarbons |, petreleum eontains gaseons |, liguid |
and solid elements . Its consisteney varies from liquid as thio as gasoline to liguid
so thick that it will barely pour. The three broad petroleum classes are paraffin,
asphaltic, and mixed-base fypes. Petyoleumn forms under the earth's surface,
First organie remaips and sediments settic on the ocean floor, and as the deposit
grows thicker and sinks, its pressure and temperature rise. Gradually, sediments
hurden into yock, and organic matter decomposes, becoming petrolemm. Less
dense than the seawater also preseni in the rock, petrolesm rises in the earth's
crust. mperineable rock layers Grap rising petrolenm, forming reservoirs.
Petralewm that is nat trapped Nows vat at thie earth’s surface.

(Juestios :

1. What is peircleum ? What is it used for ?

2 . What are the characteristics of petyoleum ?
3 .Describe ifs consistency .

4, How is petroleum formed ?

i General guestions

i. How doest ihe belernet work 7
2 . What are the interact main services ?
3. What are the opportunities offered by technology 7

EY . Sclect the adiectives | adjeetival phease | adverbs and adverbial phrases and
point out the word to which each is added:

He told me the stery of his vigit to Siwa.

We ran quickly to the station to catch the train.
wWalking along the street, I met Aly on his way home.
I found chis book lying in the drawer of this tabfe.
The books an the tahle belong i the Fnglish teacher.
BMd you leave your boolis on the iable?
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Beni Suef University
Tndustrial Wdecation College
Chemistry. First year (2009-2010)

Anrswer the following

1) Write the eleetronie configuration of the following
Se¢ (Z=21) Si (Z=14) Cu (Z=29) AP (Z2=13)

o @Z=17)

2) Write an account on the following
Eicetronegativity Coordinate covalent bond  Ionization potential

Parmagnetic substanees Le Chatelier's Prineiple

3)a) Give reasons for the following {three only)

L- Cu* is coloured (7 =29)

2- Zinc is diamaguetic (¥=3¢)

3- The boiling peint of watcr is higher refative to its molecular weight
4- Klectronegativity of flzorine is higher than chlorine

b) Calculate the oxidation number of the atoms above the line

-

H,PO, NOj,

4) a) Berive the relation betweeo K, and K¢

b) For the reaction
280, T—_“—”—_—A 2180; + Oy
at 1100 K I, is 0.0271 mobe/L. What is K at the same temperature.

¢) Find thie pH of 0.003 N HCI

5) 2) Give the TUPAC name of the followlsg compound
CH,

~,
;. CH-CH =CH,
CH, -
b) Compare between physical and chemical adsorption
<) Electron in the subshell 3d* what is the possible values of n, m, 1 and m,

d) What means that the octane number of gasoline is 90

Goad luck
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Answer all the foflowing questions:

1. Find the different forms of the equation of the straight line passing irough the poinis
A(3,4} and perpendicular 1o the straight line: X=2-4K Y =4+ 2K.

7. Find the angle between the two straight lines:

L :2x-3y+4=0 and L,:X=4+k Y =K

3. Determine which of the following equation represenis real, poini, imaginary circle

~dx" =4y? +24x + 32y - 36 = 0. And find the vector equation of this circle, the
relation berween this circle and the line: L ©x+3y-5=0

_ o sin x . ox“+2x-15
4 Find the following limit. f lim - 1. im —————
x>) sin Sx »3 x-3
ix2-10 Jx+4-2
i lim —————— VL lim - —
v Dxt 4+ 4x+9 >l x

[fz_“_f't P
flaj=1 x+2 T
l_4 X=2

. . e . - - 2
1. Determine this function is even, odd, or netiher: S (x) =5xt +3x" -4

- 1-sinx iy .
6 i) Find the derivative of: y=———  and flx)= e + In{cot 3x)
COS X '

1. Find the refative extreme jor | (x)usr'ng the second derivative (est.
y 1 5 .
flx)= 1x3 + ;xz +6x+210
A ra
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Beni Suef Untversity Basic Science Departmeni
Industrial Education College Subject: Physics 1
Time: Lhree hours First Year Students

Answer the folowing questions:

Question: 1 (12 Mark)

"(a) Define: Streamline — Law of Efflux.
{b) A mass of 2 kg connected to a light spring of force constant 10 N/m oscillates or a
horizontal. Caleulate:
(1) Total energy of the system and the maximum speed of mass if the
at"nr.nlitnde of mation is 2 cm.
(2) F'or what displacement does the speed of mass is 2 m/s.

(¢} Drive an expression for the terminal velocity of body moving in a viscous medium.

Question: 2 (12 Mark)

(a) Using Dimensions; deduce a relation for the final velocity (vj) uf a body in time (1),
if its initial velocity be (v,) and acceleration (a).

(b) A copper wire with cross- sectional area of 0.04 cm’ is hung from a suppoit and a
mass of3 kg is hung from its end and the extension in wire is 1.2 mm. Caleulate the
original length of the wirc. The young modulus for copper is 120 Gpa.

(¢} Prove that. the osciflation of a simple pendulum is simple harmonic motion. I a

pendulum has a length . and a period 1, what will be the period when 1. is doubled?

uestion: 3 (12 Mark)

(8} Define: Coefficient of surface tension - Coefficient of viscosity of liguid - heat
Capacity,

(b) What are the factors affecting the height of tiquid in the capillary tube? Explain.

{c} Pruve that, the total energy per unit mass of a liquid flowing [rom one point to

another. withour any friction, remains constant throughout the displacement.
—
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Bani-sulf Universiry first year second term exam.
Basic Science Department : May 2010 Basic Mathematics 2

Time allowed 3 hours

Answer all the following questions:
1. Evaluate the following integrals:
xdx
L —= i, fx cot (x* +5)dx
~v2x -1

e In xdx
1. [(sin * x cos x ) Iv. [
- ;1-4 -
{V. Find the area of the region between the two curves represented by:
y=x"+2x+1 and y=-x*_2x+7

T - N R R P

2.1) .Use Cramer's rule to solve the following system of equations:
2x + y + z =23
X -y +2z=29
3x4 2y +5z =14

I} For the mairices

1 2 3
1 4 3 -2
A=|2 5 3| ,B=|3]|.,C- and ) =
2 7 -1 2
1 0 8 17

I find (A" B)and Prove that (CD)" = D¢

3.1) Find the center, the vertex ,the foci, the cutting axis ,the domain , the rang, the equation
of the tow asymplotic lines and the conjugate of the hyperbola Sx* - 8y -40=0.

T} Discuss and sketch the graph of- 4x* + 25y" —8x + 100y +4=0

4. 1) Express (—— 1+3 j)in the Polar form and evaluate (— 1++/3 j)j

I/’/
H) Use De Moiver's theorem to evaluate (—- 1- Vrf; j} 4
kelaw) s /0 + Dilad daagfs p 5d sl Slded) i



Answer the following questions

Question 1
For the given figure, draw the following views;-

1 — Elevation (Looking in the direction of arrow R).
2 - §Yide view:
3 —Plan,

w

Question 2

d- Redraw in scale 1:1, the given elevation and plun,
2- Side view (Looking in the direction of arrow S).

L 8
3 |r y ,
w| | Ul L e
S ' SN L
- i P
= b1y 1
[ 20 110 .23
t“\-i ) O T - =,
o }\D;G a E]
i — , I
. 63 -

All dimensions in millimeters
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I. Divide the following sentences into subject and predicate :-

1. The farmer works hard .

2 . He ploughs the field .

3 . We met him near the school .
4 . Aly ran quickly to the station .

1. Fill in the spaces with a suitable interrogative word :

1. told you to do this ?

2.iiienns s the meaning of this word ?
R IR do you spell your name ?

4. ......did you come late ?
5.To...... did you lend your bieycle ?

1. Give questions to which the following may be answers :

1.Heisinclass LA,

2.Itis my book .

3.1 paid ten pounds to enter .
4 . Ilost it yesterday ,

1V Make the following sentences negative :

1. I found the old book in a drawer .
2 . He chose the best scat .
3. Come to dinner tonight .

4. She went to the market and bought some vegetables .

V. Change the tense of the verbs in the following sentences

from the present into past or vice versa :

1. He is writing a letter when I go to him .

2 . He throws a stone and the boy .

3 . He held the book in his hand .

4. The gardener digs a hole and buries the stones .

Good lusk
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